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Multiplique por poténcias de dez (nimero ausente)

Nome: Encontro: Data: Pontuacio:
6,205 x = 6205 6, 149 x = 614.9
1,843 x = 184.3 7,453 x = 7453
8, 056 x = 80.56 4,487 x = 448.7
7,769 x =776.9 7,992 x = 7992
4,943 x = 49.43 9,079 x = 9079
5,415 x =541.5 8,472 x = 8472
9, 086 x = 9086 10, 728 % =107.28
3,08 x =308 6, 642 x = 66.42
2,246 % =224.6 10,961 x = 10961
1,019 x =101.9 5,416 x =541.6
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@ t @ Multiplique por poténcias de dez (nimero ausente)

Nome: Encontro: Data: Pontuagio:
6,205 x 1000 = 6205 6, 149 x 100 = 614.9
1,843 x 100 = 184.3 7,453 x 100 = 745.3
8,056 x 10 = 80.56 4,487 x 100 = 448.7
7,769 x 100 = 776.9 7,992 x 1000 = 7992
4,943 x 10 =49.43 9,079 x 1000 = 9079
5,415 x 100 = 541.5 8,472 x 100 = 847.2
9,086 x 1000 = 9086 10,728 x 10 = 107.28
3,08 x 100 = 308 6,642 x 10 = 66.42
2,246 x 100 = 224.6 10,961 x 1000 = 10961
1,019 x 100 = 101.9 5,416 x 100 = 541.6
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